Quiz I General Chemistry I Lecture [ Summer 13 Dr. Hahn 25 pts 5/29 W quiz #

Name lé EM . Name

(print name) ' / (sign name}

Please show all work for full credit. This is the “confidence booster”. (Avogadro’s number = 6.02x 107 )
This is the one and only open book, help session, quiz. (1 pt for name), (1 pt per blank, 24 pts)

1. Convert 13.5 kilograms to units of milligrams. Fill in the parenthesis to do this.
13.5 Kg x { l@oﬁ)g X | lOOO ymg = ( 1.773 74/0(" ymg
Cy XKe O e Or 1Y 500, 000
2. Convert 35.2 grams of Ca to number of atoms of Ca. To do this complete the following.
a. Give the conversion factor as equivalence by filling in the blank with a number :

ék' QO?{ grams of Ca = one mole of% ——-'——?
one mole of Ca = C)C'l 7L / 0 ‘\atoms

% ot 5 G
b. Now fill in the fractions using the conversion factors which you gave in part{a).
multiplying the starting number by the number one (the numerator is equivalent to the denominator) and the
units must cancel out to end up as “atoms of Ca™ at the end.

A
352 grams(}'fci‘lL X l YKG'( (éi X GIOlK/O}CD{M}' = g Z‘i X/ﬁzj atoms Ca
0. 08)@ I mel G

3. In the periodic table:

a. What is the elemental symbol for nitrogen ? / &Z

b. What period is element Si in ? _g_?Z

C. ‘What group is the element As in ? IZ A. ( 9A—)
d. How much does one atom of oxygen weigh 7 Z {;f O amu

e. How much does one mole of oxygen weigh ? / 4 ' 0 grams

f. An element symbol for an element which is a transition metal is ( j A + m% &‘(’/797‘} )
g. An element symbol for an element which is an Actinide or Lanthanide is §[ 4| &~ /I\é?"/(;l 9'{6 €

4a, For an element Mg, the group number is 11: I_)E and the charge for the ionic form of Mg is :t Z
(show formula if applicable) C/h 0“_?’2 - 2 (W _#.
b. For the element Te, the group number is g_ganﬁid the charge for the ionic form of Te is é '“5’ 2-1

(show formula if applicable)

Chovgr = %P&Vb’#“’é}



Sore QF
i 5
Extra credit: (4 pts) l,/ g Z #

For P (phosphorus) The number of valence electrons (for a neutral atom) is 5 (172 pt}

" 2 ) ) at 2— y
The electron configuration is ’ S /, LSZ‘) 2’/,FG / ; ST ;Vﬁ; (use notation 15%, etc) (1/2 pt)
¥4 7
The valence electron configuration is 77 < > ‘;#P s (use notation 1%, etc)

1230 (pighest n=principol quadimdf = feviod %)

The number of valence electrons in the molecule PFjis PN/ . Show work. (1/2 pt)
foalencee = 5 + '9<:’\) = 26
f(qpogd \
i \ FGrsm)

Draw the Lewis Dot structure of PF3. (1 pt) * o)

The VSEPRT shape of the molecule is_(T- ed)_ or (tetrahedral) or {frigonal p}zfar) (circle ne) (1 pt)
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Quiz I General Chemistry II Lecture I Summer 13 Dr. Hahn 25pts 529 W quiz #

Name Name
rint name) sign name
p

Please show all work for full credit. This is the “confidence booster”. (Avogadro’s number = 6.02 x 10 )

This is the one and only open book, help session, quiz. (1 pt for name). (1 pt per blank, 24 pts)

1. Convert 13.5 kilograms to units of milligrams. Fill in the parenthesis to do this.

13.5 Kg x g X ( )mgi( ) mg
( Kg ( )g

2. Convert 35.2 grams of Ca to number of atoms of Ca. To do this complete the following.
a. Give the conversion factor as equivalence by filling in the blank with a number :
grams of Ca = one mole of Ca

one mole of Ca = atoms of Ca

b. Now fill in the fractions using the conversion factors which you gave in part (a). Remember you are
multiplying the starting number by the number one (the numerator is equivalent to the denominator) and the
units must cancel out to end up as “atorms of Ca” at the end.

e
352 grams A" x X = atoms Ca

3. In the periodic table:

a. What is the elemental symbol for nitrogen? _ -

b. What period is element Si in ?

c. What group is the element As in ?

d. How much does one atom of oxygen weigh ? amu

e. How much does one mole of oxygen weigh ? grams

f An element symbol for an element which is a transition metal is

2. An element symbol for an element which is an Actinide or Lanthanide is

4a. For an element Mg, the group numberis _ and the charge for the ionic form of Mg is

(show formula if applicable)

b. For the element Te, the group number is and the charge for the ionic form of Te is
(show formula if applicable)



Exira credit: (4 pts)

For P (phosphorus) The number of valence electrons (for aneutral atom)is (172 pt)

The electron configuration 1s (use notation 15, etc) (1/2 pt)
The valence electron configuration is (use notation 15>, etc)
(172 pt)

The number of valence electrons in the molecule | PE;is . Show work. (1/2 pt)

Draw the Lewis Dot structure of PF3. (1 pt)

-

The VSEPRT shape of the molecule is (T-shaped) or (tetrahedral) or (trigonal planar) (circle one) (1 pt)



